@ 56— R 17 First Bank
e Rl R

L S
13 2 F4 2 5 % T
%d: 3} ﬁ"iﬁ‘ii? 2L g ﬁPFN' %
B 14 =
dir e
()=
l-dpdivde kit 1/1,000 NT$500 ~
2.4 ek 2 2/1,000 NT$1,000 ~
(=) =14
1.4 B3 %2 B F740 7 FOTH g L
B R AT i p w2 i 3t
AEFH2Z PR Yo
2.8 % % 12 = "
(Z)REIRATL BRHPBL Y FL HEUN R S N
[P W ST ” = R #Rfg o
AR B 3T o
(= )0 ] 4
LAEER2ZER I 14 = "
e B R 2 AT B
WP AP HEZPR -
2088 ¥ % 24 = "
(T )E ol L 7 " LHEyGG BRELEPE
e ks vy 14
XN 24 X T e
22PN EER LG
*opedn ot RBPHE o
()AFRZL FFFR GRS T
J< o R I T -

i g

FEAZZ .
IO
(=)@ » AL PREpAT MR L H R R RER

FHE AP 2 2
IRHp vir',lrt T &
EIURE LR Y S
AR A N
[ RS-
B ¥ A Tax 2 F

‘QgVJ’é:}A;i%‘ii

e N

Houl 2 41 5%

fo o

SR
7

B e R
SR KT (S)2L K
B2 s T ax 2§
By R EATL P B

oo




NT$200 ~

>3 B oL 2o % =
7 F| Ay - "
B A F 5
(MR
Lk Ry Fe o ® R R
s
2G5 R ARTY 0 P |F AR
# EBIES T % US$50 °
(L)% A E T e 14 % ~ M NT$120 =~ > &
(25 5 5) M &£ NT$250 ~ - &
% .2z 2w NT$350 = »
Foo % 2 8 PR R 4
PE R L FhFE
BRBEY ERF e
2.3 PR GT AT EEEHE
Hoo R dehitR TR H R FE
EH RG22 L
EiR -y Fd
(=) < & 3 (DIP & D/A)|0.5/1,000 NT$500 = L # kT2 d o jcinde
dvdeez SFR R RE
e
(=) 2% AR e 2.?45%/&#@#&% =
(255 #57) FHRME 2T > § 2 s ietE
F o # Z 3 NT$500 =
348% 46 B NT$120 = 57
s & NT$250 =0 Fs 4
2z i NT$350 ~o i 4c &
TEARE Y ERF
- ~EREPN T RE[1.25/1,000 NT$800 ~ EZBE-H AR =B
F7 (=) F -
R A AT EAGFE S (ANAFH R
o -0
() TARE w2 w1 F 2 3 g L R/ Ed o B R
NT$400 = & 4 34z NT$800 ~
() EFL w2 ZF 2.5 £ 3 g 2. BRI Ao F A
NT$200 = NT$400 ~
(E)e* kw35 £ 3k




CE - S
g p i A =
N e PR
ooy 8 =
ook ke A BEER 1. Bz gt 8% 3 &
(=) Bk PP AL
17 38 g 2. FHEHEHERIE o 4d ¢
(L +5% FAB ALK Lo
£ 43z TE e
(2) =% % NT$800 =
2. HHER AR
(1) 5%
2/1,000 NT$1,200
(2) #% %
(=) Bz T
1. 7 48 #3%
(1) £ 5%
I k[
(2) #8g % NT$800 =~
2. HEEE AR
(1) £ 5%
Az p 3y
e
B+ £%8 [NT$1,200 =
(2) #5% % 2/1,000 NT$1,200
AR
Mok R
(-)=4¢ 2.5/1,000 US$100 = Lok vy jRTE 0 S
B B 4T 3 e o
(=) =¥ US$50 =~ (& 1) 2.5 - AR =ZB
LR IR g 13
(2) #ltE US$20 = (& %) 3 AR KL B G A o

WA 2013 £ 6 ¢



